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Which 0.1-molar aqueous solution
is the best conductor of electricity?
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o How many milliliters of 0.20 M KOH are
needed to completely neutralize 90.0
milliliters of 0.10 M HCI? = 4?
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e A solution hasa hydroxide ion concentration

of 1 x 10> M. What is the hydrogen ion
concentration of the solution?

How many hydroxide ions are needed
to completely neutralize 1.0 liter of
0.50 M HCI? g
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e Accoic he Bransied-Lowry theory
H,U s censicered 1o be a base when it

A donates an electron

B accepts an electron

C donates a proton
D accepts a proton

A hydrogen ion \\\j\\-\
B hydroxide ion %
Q hygdride ioN

D chioridé ion  —

Given theteutralization re2ction
H,S0, + 2KOH — K,SO, + 2HOH

Which compound is a salt?
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